Divisibility 9 (HKMO Classified Questions by topics)

1997 HI10
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If the ten-digit number 1357p1357p is divisible by 9, find the value of p .
1999 HGS
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Natural numbers are written in order starting from 1 until 198" digit as shown
123456789101112------ . If the number obtained is divided by 9,

198 digits

find the remainder.
2005 HG4

- Bz eBR2 T hE BT o> H B E - BZ mdk 46X

Pz

Fox ehig o
When a 3-digit number minus the sum of the values of the three digits,

the difference is a 3-digit number 46X, find the value of x .
2017 HI6
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Determine the remainder when the sum of natural numbers
1+2+3+---+2015+ 2016+ 2017 is divided by 9 .

2018 FI2.3
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If ¢ is the remainder when 2028 +26 24+ 22 s divided by 9,

determine the value of ¢ .
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Divisibility 9 (HKMO Classified Questions by topics)

Answers
1997 HI10 1999 HGS 2005 HG4 2017 HI5 2018 FI2.3
2 6 8 1 1
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